FOY N'mmHa3susa Ne 498 HeBckoro pavoHa

PeLwieHue npocTenuinx
TPUTOHOMETPUYECKUX
YPaBHEHUN

(anredpa, 10 kaacc)

Cankr-IleTepOypr



Pewaem

npocmeuwue
ypaeHeHUs



ycmaHoeume

coomeemcocmaeaeue:
e 1) cosx=0 a) 32—n+ 2mk, k € Z
e 2)sinx=-1 b) 21Tk, K EZ.
T
* 3)sinx=1 c) §+ ﬂk,kEZ.

d) T+ 21k, keZ
e 4) cosx =1

T
e) E + Zﬂk) k EZ'



dah
\_/

1) cosx = -1;
2) sinx=0;
3) cosx = 1;

Acnpaebme
owubkKy:

X=2TTk K EZ—
X=T1T+ 2TTk, k €Z.
x=27k k E7.
X=TTk, k €Z.

X = 211k k €7

X =Trk, k €Z.




[loemopsiem
OCHOBHbIe POPMYIIbI



sin2X = 2 SInX cosXx

CcOoS%X — sin?x = cos2x

2c0s°Xx — 1 = cos2X

1 — 2sin?x = cos2Xx

cos’X + sin“x = 1

1 — sin?x = cos?x




Pewaem

6o0Js1ee CJ/1I0)KHbIe
YPaBHEeHUsT



Pewume ypasHeHUSs:
1 e 2 .2
) smE — COS“X + SIn“X

2) 1+cos3x=0

sin (x g) = sinBT1T

cos2x + sin2x =1

3)

4)



COS“X + sIn“x

SIn —

dh
N/




1+cos3x=0

dh
N/







dh
N/




